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MICROECONOMICS-I — GENERAL
Paper : GE-1.1 Chg
Full Marks : 40

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

Group - A
Answer any five questions. 2%5
1. The shift of the budget line will be parallel if : '
(A) Price ratios remain the same and there is a change in income
(B) Price ratios vary _
(C) Income and price ratios both vary

( (D) Income and price of one commodity changes.
’ 2. If the two commodities are perfect substitutes, the relevant indifference curve will be :
(A) Negatively sloped and convex to the origin
(B) Negatively sloped and concave to the origin
(C) Negatively sloped straight line
(D) Positively sloped.

3. Price elasticity of demand at the mid point of a linear demand curve is :

(A) Elastic (B) Inelastic
(C) Unitary elastic (D) Perfectly inelastic.
4. When average product (AP) of a factor rises, the marginal product (MP) of the factor will be :
(A) Greater than AP (B) Equal to AP
(C) Less than AP (D) Positive and increasing.
-
‘ 5. If the price of the commodity alone increases, what will be its impact on consumer surplus?
(A) Consumer surplus will increase (B) Consumer surplus will decrease

(C) Consumer surplus will remain unchanged (D) Cannot be determined.

6. The shape of th\e Average Fixed Co"st (AFC) curve will be :

(A) Rectangular Hyperbola » (B) Horizontal
(C) Positively sloped (D) ‘U’ shaped.
7. At the point of equilibrium, the marginal cost curve of a perfectly competitive firm will be :
(A) Negatively sloped (B) Vertical
(C) Horizoal | " (D) Positively sloped.
’ [t ~
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8. The condition of ‘shut down’ in a perfectly competitive market is :
(A) Price = Average Cost (B) Pricc = Minimum Average Varizble Cost
(C) Price = Fixed Cost (D) Total Revenue > Total Cost.

9. In the long run in perfect competition, the firms will eamn :
(A) Super-normal profit (B) Loss
(C) Normal profit | (D) None of these.

10. The relation between price (P), average revenue (AR) and marginal revenue (MR) under perfect
competition is :

| (A) AR > MR =P B) AR =P >MR
’ (C) AR<MR =P (D) AR=MR=P.
Group - B
Answer any ten questions. 3x10

1. If the equation of a budget line is given by 5x + Ty = 64, the slope of the budget line will be :

(A) 755 ®B) -5/7
(C) 6477 (D) 64/s.
2. If the metro fare in Kolkata suddenly increases by 25%, what will happen to the demand curve for fiding

in a bus?

(A) It will remain constant (B) It will shift to left

(C) 1t will shift to the right (D) It will be uncertain.

L 3. Study the following table-
. Units consumed Total Utility

4 35
5 45
6 54
7 62

What will be the shape of marginal utility curve?

(A) Downward sloping (B) Horizontal

(C) U or 'V’ shaped (D) Vertical.

4. The convexity of the indifference curve implies :
(A) Increasing marginal rate of substitution (MRS) (B) Constant MRS
(C) Zero MRS (D) Decreasing MRS.
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6. The expansion path is the locus of the producer equilibrium points :

(A) When only the price of labour changes
(B) When only the price of capital changes

(C) When the rate of change in price of capital is greater than the rate of change in the price of labour
(D) When the isocost line shifts parallelly.

. If the government imposcs a sales tax on the seller, then, under usual demand-supply conditions,

compared to the pre-tax situation :

(A) the price paid by the buyer will rise
(B) the price received by the seller will fall
(C) the equilibrium quantity will fall

(D) all of A, B, C.

. Let the total cost (TC) of producing different units of a product be as follows :

Q 0o [ 1 2 | 3| 4|5
IC® | 10 | 19 |26 |31 ]35 | %

Calculate MC and AC for 5 units of Q.

(A) ¥9andX 9 respectively (B) ¥9and¥ 10 respectively
(C) ¥10andX 9 respectively (D) T9andX 8 respectively.
19, :’i’.‘he condition of long-run equilibrium of a perfectly competitive firm is :
(A) P.=LAC =LMC (B) P >LAC =LMC
(C) P <LAC = LMC (D) P =LAC < LMC.
L 0. The equation of the marginal cost (MC) curve of a competitive firm is given by MC = 3Q2+5Q + 10,

where Q refers to units of the output produced. The equilibrium output is 5 units. What will be the
equilibrium price?

(A) T50 (B) %110
(©) %18 (D) X 10.
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{1. At the minimum point of Average cost curve, which one of the following is true?
(A) AC =MC = AVC (B) AC > AVC > MC
(C) AC = MC > AVC (D) AVC < AC < MC.

12. Which of these following statements about Total fixed cost (TFC) is incorrect?
(A) TFC is fixed irrespective of the level of output produced

(B) TFCisa horizontal straight line

(C) Employment of the variable factors affect TFC

(D) TFC is the sum total of the cost incurred by the firm for the usage of fixed factors.

13. When the supply curve is perfectly inelastic, a rightward shift in the demand curve will produce

(A) Arise in both price and quantity (B) A rise in price with unchanged quantity

(C) A rise in price and fall in quantity (D) Unchanged price and rise in quantity.

14. The usual LAC curve :

(A) Envelopes short run average cost (SAC) curves

(B) First rises, then falls

(C) Rises throughout
(D) Always lies below than SAC curves.

15. When the income of the consumer rises by 10%, the quantity of a commodity decreases from 2000 units
to 1900 units. What is the income elasticity of demand?

(A) 2 (B) -2
© -13 (D) -0.5.




